Transmuted Hazard Constant Hazard Rate Model

Zahra mahmood fadhil ¹, Kareema A. AL- Kadim²

¹Department of Mathematics, College of Education for Pure Science, University of Babylon, Hilla, Iraq, E-mail: <u>zuhara.mahmud.pure311@student.uobabylon.edu.iq</u>, ORCID number 0009-0009-6100-894X ,²Prof. Dr. /Department of Mathematics, College of Education for Pure Science, University of Babylon, hilla , Iraq E-mail: <u>kareema.kadim@yahoo.com</u>; ORCID number:0000-0003-2353-4032.

Abstract

In this study, a new Transmuted Hazard Constant Formula (THCF) is discovered by combining the transmuted survival formula with the constant hazard function. Because a constant hazard function is considered important and necessary in the field of biostatistics and analyzing survival data, this new formula (THF) yields new distributions whose results in analyzing life data are superior to those of the original life distribution.

Keywords : the constant hazard function , survival function , transmuted formula, transmuted survival formula ,density function .

Introduction

It is noticeable that life differs in its assets, whether it is a living organism (such as a person or an animal), smart devices (such as a mobile phone or a computer), as well as human gatherings (such as an organization or workforce) or the assembly of a group of devices (such as a communication network or a group of machines) that have a specific survival period. He may get sick, and therefore it may be a severe disease that leads to death, or it may be mild and life continues, as well as the labor forces may stop due to injury, and the same thing with regard to machines may break down or continue to work. The danger is present and possible for the organism and the machine as well. The risk function is of great importance in biostatistics because it is used to estimate risk rates over the years.it noted in the research [1] that the researcher touched on the idea that the risk function can be used and benefited from in survival. In the research [2], the researchers noted that the constant hazard function is The gravity function of the exponential distribution is an exponential distribution.in the papers [3] and [4], the researchers dealt with the concept of life survival at the time of the event and the

time of the occurrence of the event. The researchers found in the study [5], the interpretation of the risk and the procedures for its occurrence are important to reduce the disaster. In the research [6], the researchers found The study of the hazard function is a key point in the survival analysis. In the study [7].

1. Basic definitions.

1.1. the hazard function.[8]

the hazard function h(t) which is defined by

1.2. The survival function S(t) [9].

 $S(t) = e^{-\int_0^t h(y)dy}$(2)

1.3. The transmuted survival formula $S_2(t)$ [10].

 $S_2(t) = (1 + \lambda)S^2(t) - \lambda S(t)$(3)

1.4 IF The hazard function h(t) is constant

 $h(t) = a \quad \forall t > 0, a > 0$ (4)

The Transmuted Constant Hazard Formula (TCH).

Theorem(1) The new formula, known as the transmuted constant hazard formula TCH is

Proof

the new formula also depends on the following three equations (4),(2) and (3).To calculate the new formula for the hazard function, we will substitute equation (2) in to the formula (3).

$$e^{-\int_0^t h_2(y)dy} = e^{-2\int_0^t h(y)dy} + \lambda e^{-2\int_0^t h(y)dy} - \lambda e^{-\int_0^t h(y)dy}$$

Again

$$e^{-\int_{0}^{t} h_{2}(y)dy} = e^{-\int_{0}^{t} h(y)dy} \left[\left(e^{-2\int_{0}^{t} h(y)dy} + \lambda e^{-2\int_{0}^{t} h(x)dx} \right) - \lambda \right]$$

Taking the logarithm to both sides .

$$\ln e^{-\int_{0}^{t} h_{2}(y) dy} = \ln \left(e^{-\int_{0}^{t} h(y) dy} \left[\left(e^{-\int_{0}^{t} h(y) dy} + \lambda e^{-\int_{0}^{t} h(y) dy} \right) - \lambda \right] \right)$$

Then

$$-\int_{0}^{t} h_{2}(y) dy = -\int_{0}^{t} h(y) dy + \ln \left[e^{-\int_{0}^{t} h(y) dy} + \lambda \left(e^{-\int_{0}^{t} h(y) dy} - 1 \right) \right]$$

deriving both sides

both

 $\begin{array}{ll} \text{By} & \text{deriving} & \text{bo} \\ -h_2(t) &= -h(t) & -\frac{(1+\lambda)h(t)\ e^{-\int_0^t h(x)dx}}{\left[(1+\lambda)\ e^{-\int_0^t h(x)dx} - \lambda\right]} \end{array}$

Some illustrative steps.

$$h_{2}(t) = h(t) \left[1 + \frac{(1+\lambda) e^{-\int_{0}^{t} h(x)dx}}{\left[(1+\lambda) e^{-\int_{0}^{t} h(x)dx} - \lambda \right]} \right]$$
$$h_{2}(t) = h(t) \left[1 + \frac{(1+\lambda) e^{-\int_{0}^{t} h(x)dx} - \lambda + \lambda}{\left[(1+\lambda) e^{-\int_{0}^{t} h(x)dx} - \lambda \right]} \right]$$

From equation (1.4)

$$h_2(t) = a \left[\frac{\lambda}{\left[(1+\lambda) e^{-at} - \lambda \right]} + 2 \right]$$

$$h_2(t) = h(t) \left[\begin{array}{c} \frac{(1+\lambda) e^{-at}}{\left[(1+\lambda) e^{-at} - \lambda\right]} + 1 \right]$$

Therefore, this is the new formula, known as the transmuted hazard formula TCH , that is discussed further down:

$$h_{2}(t) = h(t) \left[\frac{(1+\lambda) e^{-\int_{0}^{t} h(y) dy} - \lambda + \lambda}{\left[(1+\lambda) e^{-\int_{0}^{t} h(y) dy} - \lambda \right]} + 1 \right]$$

Simplifying the previous formula $h_2(t) = a \left[\begin{array}{c} \lambda \\ \frac{1}{\left[(1+\lambda) \, e^{-a} - \lambda \right]} + 2 \right].$

Theorem(2) The function $h_2(t)$ is a hazard function

Proof

the following conditions of hazard function

satisfy the conditions of the hazard function as follows .

1.
$$h_2(t) \ge 0$$
 $\forall t \ge 0$ and for all $\lambda \ge 2(1-2e^{-at})^{-1}e^{-at}$.

2.
$$\int_0^\infty h_2(t) dt = \left[\int_0^\infty \frac{a(1+\lambda) e^{-at}}{[(1+\lambda) e^{-at} - \lambda]} dt + \int_0^\infty a dt \right]$$
$$\int_0^\infty h_2(t) dt = \left[\ln(-\lambda) - \ln(1) + \infty \right] = \infty$$



Figure(1): The hazard function of THCF , where the parameter \boldsymbol{a} take different values .

It's been brought to our attention that The hazard function of THCHRM is monotone in the sense that the risk of harm grows with the unit's age, but reduces when its condition improves.

The Density Function of THCHRM .

Theorem (3) The Density Function of THCHRM is $f_2(t) = a e^{-at} [2(1 + \lambda) e^{-at} - \lambda] \dots$ (6)

Proof :

Check the density function conditions

$$1 - f_{2}(t) = a e^{-at} [2(1+\lambda) e^{-at} - \lambda] \ge 0$$
$$2 - \int_{0}^{\infty} f_{2}(t) dt = \int_{0}^{\infty} a e^{-at} [2(1+\lambda) e^{-at} - \lambda] dt = 1$$



Figure(5.2): The Density Function of THCHRM, where the parameter a take different values . Notice that the function is increasing and then decreasing as you get closer $t \rightarrow \infty$.

Remark(7)

Another technique to show that $h_2(t)$ meets the requirements of the hazard function, using the density function and survival function as evidence.

1) $f_2(t) = a e^{-at} [2(1 + \lambda) e^{-at} - \lambda] \ge 0$;

And $S_2(t) = (1 + \lambda)S^2(t) - \lambda S(t) > 0$ thus

$$h_2(t) = \frac{f_2(t)}{s_2(t)} \ge 0$$
.

2) $\int_{0}^{\infty} h_{2}(t) dt = -\int_{0}^{\infty} dlns_{2}(t) = -lns_{2}(t)|_{0}^{\infty} = lns_{2}(0) - lns_{2}(\infty) = ln1 - ln0 = \infty$

3)
$$h_2(t) \ge 0$$
 and $\lim_{t \to 0} f_2(t) = \lim_{t \to 0} h_2(t)$; $f_2(t) \ge h_2(t) \forall t > 0$

To prove this

$$\lim_{t \to 0} f_2(t) = a \lim_{t \to 0} e^{-at} [2(1+\lambda)e^{-at} - \lambda] = a(2+\lambda).$$
$$\lim_{t \to 0} h_2(t) = a \lim_{t \to 0} \left[\frac{\lambda}{[(1+\lambda)e^{-at} - \lambda]} + 2 \right] = a(2+\lambda).$$

And

since it's
$$f_2(t) = h_2(t) e^{-\int_0^t h_2(y) dy}$$
 and $e^{-\int_0^t h_2(y) dy} \ge 0$

then $f_2(t) \ge h_2(t)$.

The Cumulative Function of THCHRM.

$$F_2(t) = 1 - e^{-\int_0^t h_2(t)dy} = 1 - ((1+\lambda)e^{-at} - \lambda) e^{-at} \dots (8)$$



Figure(5.3): The Cumulative Function of THCHRM, where the parameter λ takes number 1. This function begins at zero and steadily increases as it moves closer and closer to the value of one when $t \rightarrow \infty$.

The Survival Function of THCHRM.

$$S_{2}(t) = e^{-\int_{0}^{t} h_{2}(t)dy} = e^{-\lambda a \int_{0}^{t} \frac{1}{(1+\lambda)e^{-at}-\lambda}dy} e^{-2at} \dots (9)$$



the Sf of The Transmuted Hazard ConstantHazard Rate Model(TCHRM)

Figure(5.4): The Survival Function of THCHRM, where the parameter a take different values and $\lambda = -1$. This function starts at one and continues decreasing until it approaches zero where $t \rightarrow \infty$.

2.1 Shape of THCHRM .

2.1.1 The Limit of cumulative function of THC.

$$\lim_{t \to 0} F_2(t) = \lim_{t \to 0} 1 - ((1+\lambda)e^{-at} - \lambda) e^{-at}$$
$$\lim_{t \to 0} F_2(t) = 1 - \lim_{t \to 0} ((1+\lambda)e^{-at} - \lambda) \lim_{t \to 0} e^{-at} = 1 - 1 = 0$$

And

$$\begin{split} &\lim_{t\to\infty} \ F_2(t) = 1 - \lim_{t\to\infty} \ \left((1+\lambda)e^{-at} - \lambda \right) \quad e^{-at} \\ &\lim_{t\to\infty} \ F_2(t) = 1 - \lim_{t\to\infty} \left((1+\lambda)e^{-at} - \lambda \right) \ \lim_{t\to\infty} \ e^{-at} = 1 \end{split}$$

2.1.2 The Limit of survival function of THCHRM .

$$\begin{split} &\lim_{t\to 0} \ S_2(t) = \lim_{t\to 0} \left((1+\lambda) e^{-at} - \lambda \right) \quad e^{-at} = 1 \\ & \text{And } \lim_{t\to \infty} \ S_2(t) = 0 \end{split}$$

2.2 Moment THCHRM.

Theorem(5.3)

If T~ THCHRM (a) then the $r_{th}moment$ about the origin , and about the mean μ one help hey as of T, say ${\mu'}_r$, is given as

1.
$$E_{2}(T^{r}) = \left[\begin{array}{c} \frac{2(1+\lambda)a}{(2a+1)^{r+1}} r! & -\frac{\lambda}{(a)^{r+1}} r! \end{array} \right](10)$$
2.
$$E_{2}(T^{r}) = \sum_{k=0}^{r} C_{k}^{r} \left[\begin{array}{c} \frac{2(1+\lambda)a}{(2a+1)^{k+1}} k! & -\frac{\lambda}{(a)^{k+1}} k! \end{array} \right] \left[\begin{array}{c} \frac{2(1+\lambda)a}{(2a+1)^{2}} & -\frac{\lambda}{a^{2}} \end{array} \right]^{r-k} (11)$$

Proof

Proof one part from theorem

Take
$$E_2(T^r) = \int_0^\infty t^r \,\theta \, e^{-\theta t} [2(1+\lambda) \, e^{-\theta t} - \lambda] dt$$

 $E_2(T^r) = \left[2(1+\lambda)\theta \int_0^\infty t^r \, e^{-(2\theta+1)t} dt - \lambda\theta \int_0^\infty t^r \, e^{-\theta t} dt \right]$

Suppose that $L_1 = \int_0^\infty t^r \ e^{-\theta t} dt$ and $L_2 = \int_0^\infty t^r \ e^{-(2\theta+1)t} dt$ and Let $y = \theta t$ than $dy = \theta dt$

$$\begin{split} L_1 &= \int_0^\infty \ (\frac{y}{\theta})^r \quad e^{-y} \frac{dy}{\theta} \\ L_1 &= \left(\frac{1}{\theta}\right)^{r+1} \ \Gamma(r+1) \end{split}$$

Same that $\,L_2=\,\int_0^\infty t^r\,\,e^{-(2\theta+1)t}dt\,$

Let $z = (2\theta + 1)t$, $dz = (2\theta + 1)dt$

$$\begin{split} L_2 &= \ (\frac{1}{2\theta+1})^{r+1} \int_0^\infty \ (z)^r \quad e^{-z} dz \\ L_2 &= \ (\frac{1}{2\theta+1})^{r+1} \end{split}$$

As a result,

$$E_2(T^r) = \left[\begin{array}{c} 2(1+\lambda)a \\ (2a+1)^{r+1}r! & -\frac{\lambda}{(a)^{r+1}}r! \end{array} \right]$$

Proof two part

Depending on the equations (10) and Binomial theorem.

When
$$E_2(T_{})=\frac{2(1+\lambda)a}{(2a+1)^2} -\frac{\lambda}{a^2}$$
 .

Then

$$E_2(T^r) = \sum_{k=0}^r C_k^r \left[\begin{array}{cc} \frac{2(1+\lambda)a}{(2a+1)^{k+1}}k! & -\frac{\lambda}{(a)^k}k! \end{array} \right] \left[\begin{array}{cc} \frac{2(1+\lambda)a}{(2a+1)^2} & -\frac{\lambda}{a} \end{array} \right]^{r-k}.$$

References

- [1] Wu, L.L. (1989) Issues in Smoothing Empirical Hazard Rates. Sociological Methodology, 19, 127-159.
- [2] NCLA Statistical Consulting Group (2021) Survival Analysis with STATA .
- [3] Clark, T.G., Bradburn, M.J., Love, S.B. and Altman, D.G. (2003) Survival Analysis Part I: Basic Concepts and First Analyses. British Journal of Cancer, 89, 232-238.
- Park, S.Y., Park, J.E., Kim, H. and Park, S.H. (2021) Review of Statistical Methods for Evaluating the Performance of Survival or Other Time-to-Event Prediction Models (from Conventional to Deep Learning Approaches).
 Korean Journal of Ra-duology, 22, 1697-1707.
- [5] Eiser, J.R., Bostrom, A., Bvrton, I., Johnston, D.M., John McClure, J., Paton, D.,Pligt, J.V. and White, M.P. (2012) Risk Interpretation and Action: A Conceptual Framework for Responses to Natural Hazards. International Journal of Disaster Risk Reduction, 1, 5-16.

- [6] Kvrniasari, D., Widyarini, R., Warsono and Antonio, Y. (2019) Characteristics of Hazard Rate Functions of Log Normal Distributions.
 Journal of Physics: Conference Series, 1338, Article ID: 012036.
- [7] Zhang, J. and Peng, Y. (2009) Crossing Hazard Functions in Common Survival Models. Statistics & Probability Letters, 79, 2124-2130.
- [8] Rinne, H. (2014) The Hazard Rate—Theory and Inference.
- [9] Gilchris W.G. ,"Statistical Modeling with Quintile Functions", CRC Press,(2000).
- [10] Mohamaad S. F., and K. A. Al-Kadim. "A Transmuted Survival Model With Application" . Journal of Physics: Conference Series. Vol. 1897. No. 1. IOP Publishing, 2021.